



IES VILLA DE ABARÁN

EJERCICIO 6 DESCARGABLES ONMAT

6.- Resuelve utilizando la jerarquía de las operaciones:

$$\begin{aligned} \text{a) } - (+2) - (+1) + (-1) &= \\ &= \end{aligned}$$

$$\begin{aligned} \text{b) } 15 + (-2) \cdot 7 &= \\ &= 15 + (\quad) = \\ &= 15 \end{aligned}$$

$$\begin{aligned} \text{c) } 12 : (-3) + 6 &= \\ &= \end{aligned}$$

$$\begin{aligned} \text{d) } 36 - 6 : (-2) &= \\ &= 36 \end{aligned}$$

$$\begin{aligned} \text{e) } -9 + (-2) \cdot [1 - (-4)] &= \\ &= -9 + (\quad) \cdot [\quad] = \\ &= -9 + (\quad) (\quad) = \\ &= -9 + (\quad) = \\ &= \end{aligned}$$

$$\begin{aligned} \text{f) } -5 - 2 \cdot (1 - 4) &= \\ &= -5 - 2 \cdot (\quad) = \\ &= \end{aligned}$$

$$\begin{aligned} \text{g) } -7 - [(-2) + (-9)] &= \\ &= -7 - [\quad] = \\ &= -7 - (\quad) = \\ &= -7 \end{aligned}$$

$$\begin{aligned} \text{h) } (-8) \cdot (+3) - (-2) \cdot (+6) &= \\ &= (\quad) - (\quad) = \\ &= \end{aligned}$$

$$\begin{aligned} \text{i) } (-20) - [(+5) + (-6)] : (-1) + (-3) &= \\ &= (-20) - [\quad] : (-1) + (-3) = \\ &= (-20) - (\quad) : (-1) + (-3) = \\ &= -20 - (\quad) = \end{aligned}$$